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Ethel observes bolh hor clock and Mils clock 4o
TéaA [2100 WL\.@V\ lfle PQS‘S@S l/\_er 1A his SIC{SS

Yocket ’fravellirg al half e speed 50 ]i@W\'. What

C{OQS MII+ OXOS&F\/Q E’HLQI/S Cloc;k ‘{’D WQQA chen
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B) Ac carlier $ime
C) A loter time
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E'H/\e( o]gser\/es bo’H« "‘\e;/ClOClC ab\A MiH’IS clock o

reod 12:00 when he passes hev in his Slass
\(OC\ce,'k ’{'Yauel'i(g a‘{ Lml{ Hre SP@@d JE It@"d' \f\),/\a\"k

does Milt observe E’H«e!’g CIOCL/ o read hen
\(\.Q, ?(/‘\SS’QS l/-\_e/rr) TL\{ ~+wo clock g Passing ea cla O}Ler

repreSe/ﬂ'S a c‘e&‘w#e QVCV\‘l’,
A ' (L.e- S?@c'\%c ]f)ca’hm{ specﬂ{;c “hma
12200 Boi MiH o Efnel are peesed ot 4ais

e\/é:n’(’) and % "H/LQY ave  both

l) . , \oakinﬁ a—} 'M«C/'Slﬂme ¢ lock
g AV\ QQ.T‘\HZF “{" me (Ethel's C(aCk) ’hﬂé?y w]”

vee  fué Sam W |
C) A [&ew ‘hme ’ " ’ )(MO'

D) Eiber B or C,) but T'm st suve
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Two identical clocks ave set o Jhe
sSame time as one passes the othey
ot "\:al*l VCloc.H‘y (o;s shotn 1n ‘-Hﬂ-e‘bp
‘&3“&"3—). Which d{‘ the other -Yiﬁures
' r‘ePreserd's a po*s:sible, observation of
the (_‘loc‘ks ‘a‘\‘ Some  later Fime in ;
Fhe frame of the i xed clock.

(Assume the readings on the clodes arve exact),
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Two identical Clocks ave set o Jhe
Same time as one passes the othes
ot ‘mal’\ VC[OcH'y (as shown in 'Hfte."‘op
{anr‘e), ulﬁd\ ciF the ' other Qlﬁure.s

‘ r&Preserd’s Q po$5ib|e, obseﬁ/ﬂ.‘l‘lwx o‘?

| the clocks at Some lfer Fie in

Fhe frame of the fixed clock.

(Asyme the. f¢aA:'|5§ on ‘e ¢lodes are eKaC{'),

T‘Me cil‘o&J[\OA‘. VV\OVfr\j Clock
QPP@Q(S ‘lD Cun Shwer

(out sHll Sorwnrd ).

-T(‘MQ on lmovirg ¢ locle should
be Ef"hueeh 200 and 7202
de Fé«f\dihj on  ve \ch'J[P/ (bt wst

Qz7m\ Jrv 2ioo  of 2‘013 (‘,\)L\g,‘
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